




 

2PbO(s) + C(s)       2 Pb(l)  +   CO2(g)        

 

PbO(s)   + C(s)          Pb(l)   +   CO(g)                                   

                        

        PbO(s)   + CO(s)       Pb(l)     + CO2(g)     

 

 

 

 

Vidro                                 Pb 

 

350·10
6
 g de Vidro           100% 

Massa de Pb                      11,5%                               mPb= 4,03 · 10
7
 g     

 

 

1 mol   de Pb                             207 g 

nPb                                             4,03·10
7
 g                 nPb  = 1,94 · 10

5 
mol        
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 NH4NO3     →        N2O    +  2H2O                             

 
 

  

ΔrΗ = ΣfH produtos- ΣfH reagentes 

  

 NH4NO3   →   N2O   +  2H2O 

   -366              +82       2 (-242);   ΔrΗ= -484+82+366 = -36 kJ mol
-1
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Keq · [H
+
] = [B] / [A]  =  

             

          
 

 

[B] / [A]  =  0,12               ⟹   [B] =  0,12 [A]                              
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                             1H2         1Cl2      

                             2 g   →    71 g 

                            mH2  →    60 ∙ 10
6
 toneladas       ⟹  mH2 = 1,69 ∙ 10

6
 toneladas.  
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NaCl(aq) 
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NaOH(aq) 

Cl2(g) H2(g) 
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ṕ ,   

     5 3 5 0 0 3 cmṕ , , ,     
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